2011 MATHSMIND YEAR 9 QUESTIONS


	Question 1

High tide is at 08:10 hr

Low tide is at 14:26 hr

When is it half-tide?

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 2

Ben’s dad owns an Evo (Mitsubishi Evolution car) which consumes 14 litres of fuel per 100 km on the open road.  

He drives from Tauranga to the Meremere drag strip, a distance of 250 km.

Ben’s dad does three drag races.  Each race is 1 km and the fuel consumption is 50 litres per 100 km.

He then drives home to Tauranga.

How much fuel is burned altogether?  


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 3

Bella’s ride-on lawnmower cuts a strip 1 metre wide.

It travels at a speed of 5 km per hour.

Bella’s job today is to mow a rugby field which measures 50 m by 100 m.

How long will it take Bella to complete this job?


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 4

“psi” is a measure of air pressure.  

One of the tyres on Grandad’s old truck loses 2 psi per month.

At the start of the year the tyre pressure is 32 psi.

Find its pressure at the end of the seventh month.




	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 5

Find the product of the tenth prime number and the tenth term in the Fibonnici sequence.


	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 6

Jules is an artist.  She prepares a rectangular canvas with an area of one square metre.  

Both short sides measure 500 millimetres.

Find the length, in centimetres, of both long sides.

Important:  your answer is in centimetres.





	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 7

Look at this complex expression.  Wow! Your task is to reduce it to a whole number, i.e., your answer will be a whole number.  Good luck.
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	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 8

Poppa is getting older and he walks less each day.

On Tuesday 1st March he walks five kilometres.

On Wednesday 2nd March he walks 100 m less, i.e., he walks 4.9 km;

On Thursday 3rd March he walks 100 m less, i.e., he walks 4.8 km;

and so on.

How far does Poppa walk on the third Sunday of March?



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 9

This ugly monster will simplify down to a simple whole number.  What is it?
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	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 10

Half of the students in 9MAX have brown hair.

A quarter of them have black hair.

A sixth of them are blonde.

Ari and Ira dyed their hair green.

How many students are in 9MAX ?

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 11

Find the value of this expression
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	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 12

The 91 rooms in a hotel are to be renumbered. 

How many 2’s will be needed if room No.13 is numbered 12A ?



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 13

How many triangles of different measurements can be constructed if each is to have a perimeter of 11 cm and if each side of each triangle is to be a whole number of centimetres?



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 14

Aunt Mabel has an old grandfather clock which chimes once for 1 o’clock, twice for 2 o’clock, and so on.  It chimes both day and night.

How many times does it chime in a 24 hour period?



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 15

Hemi has just enough paint to cover a circular dish which has a radius of 100 cm.  How many discs with a 1 cm radius will this amount of paint cover?



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 16

Simplify this crazy mess:
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	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 17

What mathematical symbol can you place between 2 and 3 to make a number greater than 2, but less than 3?



	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 18
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	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 19
The big cube, shown below, is made up of a number of smaller cubes of identical shape and size.  The front face shows how the smaller cubes fit together. The person who drew this diagram forgot to draw in lines on the other faces.

How many squares are there altogether on the faces of the big cube?
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	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Question 20

Ben calculated the square of the sixth prime number.

Maia calculated the cube of the sixth Fibonnaci number.

Rocky found the product (i.e., multiplied) of Ben’s answer and Maia’s answer.

Julia halved Rocky’s answer.

What answer did Julia obtain?

	ATTEMPT 1
	ATTEMPT 2
	ATTEMPT 3
	ATTEMPT 4
	ATTEMPT 5

	
	
	
	
	


	Q’n
	Answer

	1
	11:18 or 11:18 am or 1118

	2
	71.5 litres

	3
	1 hr or 60 min  

	4
	18 psi or 18

	5
	1595

	6
	200 cm or 200

	7
	0 or zero

	8
	3.1 km or 3100 m or 3100

	9
	5

	10
	24

	11
	100

	12
	20

	13
	4 (2-4-5, 3-4-4, 3-3-5 & 1-5-5)

	14
	156

	15
	10,000

	16
	1

	17
	Decimal point   “ . “

	18
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	19
	54

	20
	43264
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